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Incidencia	de	la	fibrilación	auricular	en	los	pacientes	en	
hemodiálisis.	Estudio	prospectivo	a	largo	plazo	

	

	 T+	 T-	 Total	
FA	 5	(a)	 15	(b)	 20	(n1)	
RS		 13	(c)	 131	(d)	 144	(n0)	

Total	 13	 131	 164	
	

Sensibilidad:	a/a+c	=	.28x100	=	28%	

Especificidad:	d/b+d	=	.90x100	=	90%	

Exactitud:	a+d/a+b+c+d	=	83x100	=	83%	

Valor	predictivo	+	:	a/a+b	=.25x100	=	25%	

Valor	Predictivo	-	:	d/c+d	=	93x100	=		 93%	

Prevalencia:	a+c/a+b+c+d	11x100	=	11%	

	

Incidencias:	

• FA=	15/100	
• RS=	3/100	

	

RR=	(5/20)	/	(13/144)	=	.25	/	.09	=	2.77	

	

	



Riesgo	atribuible	

Ie	-	Ine	=	(5/20)	–	(13/144)	=	.2500	-	.0903	=	.1597			

	

Porcentaje	de	riesgo	atribuible	

(Ie	-	Ine)	x	100	=	.1597	x	100	=	16%	

	

	


